
 

 
 

Granatelli Motor Sports, Inc 
Universal Bolt-On Wheelie Bars  

Installation Instructions 
 

Part # GMWB19 
 

Thank you for your purchase of the Granatelli Motor Sports, Inc. Universal Bolt-On Wheelie Bars.   
 
IMPORTANT: Prior to attempting installation, please carefully read through the instructions to 
familiarize yourself with the procedures and steps required. It is important to note and for you to 
understand these instructions contain specific cautions and warnings that must be followed to prevent the 
chance of improper installation. Incorrectly installing the Granatelli Motor Sports, Inc Universal Bolt-On 
Wheelie Bars could potentially render the vehicle unsafe to drive.  If this is your first time installing a unit 
such as this, please show extreme caution or consult a professional certified automotive mechanic. 
 

 
 1.  (2) Long Upper Bar - 1" X 37" Long    2.  (2) T-Stud – 3/8-24 w/ (2) Jam Nut 
 3.  (2) Wheel Bracket      4.  (2) Aluminum Flat Bar - Lower - 42" 
 5.  (2) Axle Bracket      6.  (2) Wheels 1/2" Bore 
 7.  (1) Cross Bar -  1" X 12"     8.  3/8-24 U-Bolts Welded To #5 
 9.  (2) Axle Bracket End Cap     10. (4) 3/8-24 x 2 3/4" Bolt 

11. (4) 3/8-24 x 3/4” Bolt      12. (4) 3/8-24 Nut / (4) Flat Washer / (4) Lock Washer 
 13. (4) 3/8-24 Nut      14. (4) 3/8-24 Nut 
 15. (4) 3/8-24 x 3/4” Bolt      16. (2) 3/8-24 x 1.5” Bolt 
    
 



Attention: 

Apply anti-seize to all male and female threaded areas.   

Apply lithium grease on both ends of the #2 T-Bolts.   

Please consult local and state laws as it relates to Wheelie Bars extended past your rear bumper. 

Installation: 

1. Assemble all sub-assemblies to match the print on page 1 

2. Before Installation, confirm your car is on a level surface.  

3. Pre-locate the Granatelli Motor Sports, Inc. Bolt-On Wheelie Bars under your vehicle with the brackets butted up to the axle 
tubes on both sides of the differential.  The #5 brackets should fit around the axle tubes.  Install the #9 end caps and #12 
hardware to the axle brackets capturing the axle tubes. AT THIS POINT, JUST SNUG UP THE NUTS.  Do not finish tightening. 

4. Set the wheelie bars height of the wheels 6" from the ground for street use or 3.5" to 3.75" for drag race applications, then 
tighten nuts at axle end caps to 60 ft/lbs. 

NOTE:  It is imperative that care be taken to ensure the wheelie bars clear steep driveways without dragging when entering said 
driveways. 

As an option, after setting the wheelie bars at the said 6" height, leave the wheelie bars snug enough not to rattle but loose 
enough to move then test the wheelie bars while entering and exiting frequently used driveways and street entrances.  Once set 
to a safe height, retorque nuts at axle caps to 60 ft/lbs. 

If the axle brackets #5 are too large for your axle tubes, we recommend a small stitch weld of the brackets to the axle tubes. 
  

LIMITED WARRANTY  
& LIABILITY AGREEMENT 

Granatelli Motor Sports warrants that all products shall be free from defects in materials and/or workmanship for 90 days from the date of purchase (except in-
tank and in-line fuel pumps purchased at dealer or wd prices as these items have no warranty).  The following requirements and exclusions apply:  (1) You must 
be the original purchaser and must complete the warranty registration form (located at www.GranatelliMotorSports.com/warranty.asp) and return the defective 
product within 10 days of your original purchase.  Failure to do so voids all warranty, either express or implied set forth herein.  (2) You must reside in the United 
States or Canada and use the product as described in the warranty registration.  (3) The product must not have been altered, disassembled, modified, or 
converted for any other use than intended by Granatelli Motor Sports.  (4) The product, or any part thereof, is not used in accordance with the operating 
parameters specified by Granatelli Motor Sports  (5) The product or any part thereof is damaged or rendered unserviceable due to negligence, vandalism, theft, 
fire, debris, flood, Act of God, or other peril, malfunction of equipment, or by any cause within the Customer's control.   (6) The serial number (if applicable) must 
not have been altered or removed.  The extent of Granatelli Motor Sports' liability under this warranty shall be limited to the prompt correction or replacement, at 
Granatelli Motor Sports' option and at no cost to the customer other than return shipment, of any defective part of the product determined to be necessary by 
Granatelli Motor Sports. This only applies if a written notice of the claimed defect was received by Granatelli Motor Sports prior to expiration of the warranty 
period. All warranties of merchantability and fitness for a particular purpose are expressly excluded.  The duration of any and all implied warranties is limited to 
the duration of this express warranty.  All incidental and consequential damages including but not limited to loss profits even if it has been advised of the 
possibility of such damages are hereby excluded.  Regardless of the form of the claim, Granatelli Motor Sports liability for any damages to the customer for such 
product is limited to the guidelines herein.  This stated, expressed warranty is in lieu of all liabilities or obligations of Granatelli Motor Sports for damages arising 
out of or in connection with delivery, use or performance of the product.  This warranty cannot be amended or changed by any Granatelli Motor Sports 
representative, employee, or agent and any promises inconsistent with this warranty are void and unenforceable against Granatelli Motor Sports.  Some states 
do not allow limitations of incidental or consequential damages, so the above limitations or exclusions may not apply to you.  This warranty gives you specific 
legal rights and you may have other rights that vary from state to state.  Your sole remedy for the above warranties is the repair or replacement of the defective 
product only, at Granatelli Motor Sports’ sole discretion.   
 

RETURN POLICY: 
 
NOTE: No returns accepted without pre-approved RGA (return goods authorization) number clearly marked on the outside of the box. No returns accepted on 
special orders or after 90 days from date of original shipment. All returns are subject to a 25% restocking fee. Before you return this product, contact our service 
department M-F 8AM-5PM (PST) at 805-486-6644, Ext. 109 or techsupport@GranatelliMotorSports.com for an RGA number. Returns made without prior 
authorization will be refused. All returns must be made within 30 days from date of original shipment, safety packaged in original packaging (if available as in-
transit damage is not covered by our limited warranty), have the RGA number clearly marked on the top and two sides of the box and be insured for full 
replacement value. We recommend using UPS or the UPS Store for shipping. In-bound freight is always customer's responsibility. All returns are subject to a 
restocking fee up to 25%. The balance will be returned in the form of a check or may be applied as credit towards another purchase. Special orders and 
electrical components are not eligible for returns. For warranty registration, go to: www.GranatelliMotorSports.com/warranty.asp.   
 
PERFORMANCE CONSUMER'S BILL OF RIGHTS: 
 
Legally, a vehicle manufacturer cannot void the warranty on a vehicle due to an aftermarket part unless they can prove that the aftermarket part caused or 
contributed to the failure in the vehicle (per the Magnuson Moss Warranty Act, www.GranatelliMotorSports.com/magnusonmoss.htm (15 U.S.C. 2302(C)) . For 
best results, consider working with performance-oriented dealerships with a proven history of working with customers. If your vehicle manufacturer fails to honor 
emission/warranty claims, contact EPA at (202) 260-2080 or www.epa.gov.  If federal warranty protection is denied, contact the FTC at (202) 326-3128 or 
www.ftc.gov.   
 

http://www.granatellimotorsports.com/warranty.asp
mailto:techsupport@GranatelliMotorSports.com
http://www.ups.com/content/us/en/shipping/index.html
http://www.upsstore.com/index.html
http://www.granatellimotorsports.com/warranty.asp
http://www.granatellimotorsports.com/magnusonmoss.htm
http://www.epa.gov/
http://www.ftc.gov/

